VICOR __CONFIDENTIAL [rev ] DESCRPTION [ owe [ rew
HEREIN OR HEREMITH 15 NOT 7o BE AEFROBUCED, [ [retense per ets0775a k] oansrs | nte
5D, OR DISCLOSED IN WHOLE OR IN PART
70 ANYONE. WITHOUT PERMSSION OF VICOR CORP,
! I / !
CONFIGURATION A CONFIGURATION ‘A
COLDPLATE VERSION SHOWN COLDPLATE VERSION SHOWN
DUAL OUTPUT TRIPLE OUTPUT
WITH LUGMATES WITH LUGMATES
INCHES INCHES
MM MM
75 I I} 75 (I I}
19.1 i@ ] : ! 191 frde) @@ ‘ !
496 4.96
126 126
20 4560 20 4560
54 115.82 54 115,82
@ -] o o i} o -] o
% 16
©) © @) ©)
©c o o © 6 © c o
2.680 MOUNT (8) PL USING 2680 VPAG
6807 VIPAG =8 FLAT HEAD SCREW 68.07 MOUNT (8) PL USING
(M4 FLAT HEAD SCREW) #8 FLAT HEAD SCREW
3 TORQUE TO 12 IN. lbs. 650 . (M4 FLAT HEAD SCREW)
o o o5 ° o TORQUE TO 12 IN. lbs.
650 O o006 O 172.7 O o006 O
727 Oloscos ©§ O)ooooo @
' 90000 #4-40 STUD 6.000 ©co0ocoo #4-40 STUD
6,000 o 00 0 000 0 000 o0 FITS 2 LUGS MIN 152.40 0 00 0 FITS 2 LUGS MIN
15240 (VICOR P/N 23519) 713 (VICOR P/N 23519)
7.28 . . . . . TORQUE TQ 4 IN. bs. 1812 . . . . TORQUE TO 4 IN. Ibs.
b A== =] (= 2 PLACES = | ]1 ]| s || T 2 PLACES
o] o| o] ol o o) ol 0| [0] 0| [0] o
@ 33 33
X0 o [ofF o] o [of [{o)] o |o 8.3 5 o] o o) o] o [0 Yo o |o ﬁ
@égo =0 ogég & o@"é“go o@"é“@o oeéo i
| O ‘H(‘W 5 @\ =T O ) L. ) HZL....00)
/ ‘ 1520 58 1520 58
;f{s&% faég MIN ‘ 1) %7 | 3861] %7
3.040 70 3040 70
(VICOR P/N 23519) T — s = S5 —
TORQUE TO 4 IN. Ibs. J 70 o : J 70 —
4 PLALES R . 78" 841
70| 3.68 ] 70 3.68
INSULATED 78 935 78 535
BUS BAR (2 PL)
XX _02 XXX __ 010 XX _02 XXX _ 010
TOLERANCES XX -2 XX - ok TOLERANCES AXQ2 XK .00

[« | _%p—v ICOR

o
DINENSIONS. ARE 1N INCHES-

FRACTIONS DECHALS ANGLES OUTLINE DRAWING
e Rt VIPAC CONFIG "A” (DC)

THRD ANGLE PROJECTIN _[SIZE |FSCH NO. _ [OWG

B e [ 21317 [

D0 NOT SCALE brAWRG_|SCALE 1] [sreer 1_oF 2




VICOR CONFIDENTIAL

THIS DOCUMENT AND THE DATA DISCLOSED
HEREIN OR HEREWITH IS NOT TO BE REPRODUCED),
USED, OR DISCLOSED IN WHOLE OR IN PART

TO ANYONE WITHOUT PERMISSION OF VICOR CORP.

CONFIGURATION 'A’

COLDPLATE VERSION SHOWN
DUAL OUTPUT
WITH PLUGMATES

INCHES
MM

81
i ook}
}7‘;.,4 TP & — T P
496
126

20 4560
5.1 115.82
43 Lo ° ©
5

o (-] o o
2.680
Zan7 VIPAC
68.07 MOUNT (8) PL USING

#8 FLAT HEAD SCREW
6.80 o (M4 FLAT HEAD SCREW)
17‘7 ° O ocoo0o O ° TORQUE TOD 12 IN. lbs.
oty 10 e soes d|
152.40
7.48
190
35
9

18.3 93.2

CUSTOMER MUST WIRE OUTPUTS OF
CONVERTERS IN PARALLEL AS SHOWN.
REFER TO DATA SHEET FOR DETALS.

TOLERANCES XX _.02 XXX _ .010

=]

DESCRPTION

[ o [

‘ ‘ SEE SHEET 1

CONFIGURATION A’

COLDPLATE VERSION SHOWN
TRIPLE OUTPUT
WITH PLUGMATES

INCHES
MM

NN
2
Sla

’ ‘l;.,l TP = & T o0 = T o
496
126
20 4560
5.4 115.82
i 4 b
63 ° o o
RN
-] (-] o (-]
2.680
68.07 VIPAC

MOUNT (8) PL USING

#8 FLAT HEAD SCREW
° (M4 FLAT HEAD SCREW)
o O coo O ° TOROUE TO 12 IN. lbs.

6.000

152.40

UN_ESS DTFERWISE SPECFED
DINENSIONS. ARE 1N INCHES-
TOLERANCES ARE:
FRACTIONS DECMALS ANGLES
Yes xxo egr e
Soox—s 005

THRD ANGLE PROJECTION

D0 NOT SCALE DRAWNG

Aﬂ# VICOR

OUTLINE DRAWING
VIPAC CONFIG "A" (DC)

67151 21317 [
SCALE 1| [seeT 2 oF 2




